(BIHE) ars o (7 52 9 o )
1. URZETE (UREEAIURE) (B BHAM. %)
FE
18F FEaw [ 19F Eaw | 20F6E x| 215FE 26 F 23 FE 45 F
X &
1. E * 1R #® a 6,795 6,688 6,306 6,931 7,420 7,932 8,090
= 1) # & I A 6,152 6,099 5,722 6,327 6,792 7,299 7,452
2 % ) b 643 589 584 604 628 633 638
S b it = i & B £ 339 344 336 332 343 346 348
2. E % 4 W %= 855 866 871 797 781 785 808
) th=staEE-HES 810 821 823 750 733 737 760
2 B (& ) @ B £ 7 7 12 9 9 9 9
AL® T ) it 38 38 36 38 39 39 39
#® & 1)} # (A 7,650 7,554 7177 7,728 8,201 8,717 8,898
%[1. B * 7 A b 7,943 7,747 7,547 8,071 8,203 8,311 8,372
MM B B #H 5 #E c 3,755 3,698 3,740 4011 4,091 4,188 4,243
2) # 2 g 1,568 1,601 1,435 1,537 1,614 1,633 1,668
(3) # g 1,391 1,397 1,330 1,514 1,485 1,534 1,532
4 B M@ & #H = 1,203 995 985 943 945 912 884
(5) % ) b 26 56 57 66 68 44 45
2. BE ¥ 4N # H 531 534 510 506 500 493 480
1) % h I 2 320 308 296 288 279 269 255
2 % ) b 211 226 214 218 221 224 225
i #® ) =1 A B) 8,474 8,281 8,057 8,577 8,703 8,804 8,852
# 8% 8 & (A—B) © A 824 A 727 A 880 A 849 A 502 A 87 46
’Eﬁ 1. 4% Al F # (D) 7
12, % Al i=| % (B) 9 15 10 11 11 11 11
et B 18 25 D)—(E) (F A9 A8 A 10 A 11 A 11 A 11 A 11
i i Eny C)+F) A 833 A 735 A 890 A 860 A 513 A 98 35
= L x i=| £ (Q) A 4314 A 5049 AD5939] A6799 A7312] A 7410 A 7375
B 3 & E (7 2,513 2,356 2,000 1,792 1,972 2,408 2,803
A 3 =1 '« 475 616 549 549 549 549 549
B 56 — BB A £
2 F E 8B &8 B R
REZFERBESECRBA
X IF ® ¥ 17 0O %
B 3| B i % @) A 2038 A 1740 A 1451 A 1243 A 1423 A 1859 A 2254
{ (4)-(1)} (7 )-(7)} ’ ’ : ’ ’ ’ ’
B g E & €« F B E®X 42 298 289 208 A 180 A 436 A 395
# % I X K E— X100 90.3% 91.2% 89.1% 90.1% 94.2% 99.0% 100.5%
* B @& B t =2 xi00 -30.0% -26.0% -23.0% -17.9% -19.2% -23.4% -27.9%
E %2 IR X kb =—F—x100 85.5% 86.3% 83.6% 85.9% 90.5% 95.4% 96.6%
BEREENELNALEE S — x100 55.3% 55.3% 59.3% 57.9% 55.1% 52.8% 52.4%
EROWEUASOTEE (H)
- 2%
tmmmz,ﬂoaﬁexmoiw 100
I ST 5 EEED
gixﬂkx
& 73 il F = 79.2% 76.9% 70.5% 74.0% 78.2% 79.1% 80.0%
(INEEICHTIEEEEETREHAICOVTIH. RDERICKVEHTHIE,
OINEE BEEEESARHI=(INFEOAREREEI-N-1EEOFREHKEED

FREBENEDRELLIEE (RREBVREELLVGE) ICBVWTLRAOHTLEEFEESTRBEEZEH TS L

B 2EEEFEEET REANRAAI=2FEFREHEA20BAAI-NIFEFREFLEI0BSLML)




iz

(B BR fif v (7 3L R i i)
2. INZEHE (EARRINR) (BA-JHHAMA. %)
R 18FEEaw | 19FEew | 20FEE | 21FE 225 235 245 E
X &
1. 1 % & 260 270 490
2. £ 5 H ' £
3. it = § a # £ 301 285 291 368 374 367 342
B = @ B A 2
5. b & & # B £
6. B ( & ) # B £
7. % ) fth
I A Bt (a) 301 285 551 638 864 367 342
APRPLBEEE~ABUVBIND )
X B 0B R FE & §E
AIEEHFAETHEEM/A (c)
figt(a)—{(b)+(c) (A) 301 285 551 638 864 367 342
1. & B ¢ B & 133 283 324 314 495 85 85
Xl &8 ¥ & B8 B 2 632 644 656 673 706 720 833
3. M RIBAERESR
w4 % ) fth
X H &t (B) 765 927 980 987 1201 805 918
=5 X & %8 B—(A (C) 464 642 429 349 337 438 576
;@1- B % EJJ T B R & £ 417 334 169 157 506 863 933
<le. ® &= B R & B 5 % 35
B B OB I B OE O£
%4. z ) ft 6 13 15 15 24 4 4
‘ &t (D) 423 347 184 172 530 867 972
HTABIBREALT 2% (C)—(D) (E) 41 295 245 177 A 193 A 429 A 396
%Erﬁﬁ]%ﬁ%%}ﬂ%%} ®
X lF £ % 7 0 =
EFEBHEREFT RS (E)—(F) 41 295 245 177 A 193 A 429 A 396
1. BROBREE T HEXEICHOTIEL, GERDIED. FlE. WS EDFTTEZIERTHI L,
2. $§50)$14(i;@ﬂ£§76_t£‘15b0 (51) F B4,
3. —lBEAEIOBAEDREL
(B FH)
18 Eaw | 19FEew | 205 Ean | 215E 224EE 23EE 45 E
o3 8 IR i( )|« )|« ) )|« ) )
1,148593| 1,165391| 1,159,190| 1,081,831 1,076,599 1,083,807 1,108,015
& £ B I i( )|« )|« ) )|« ) )
301,407 284,609 290,810 368,637 373,869 366,661 342,453
s & ( )|« )|« ) )|« ) )
1,450,000| 1,450,000 1,450,000| 1,450,468 1450468| 1450468 1450468

GE)

1 (OREESEERENEAREEELAT DL,

2 TEENEAL ILE THARNERFRHEITOVTI(RBEBAMBEREMN) KO

AEZLIBDTHALE,

LN E

EESEHABYANONDEAE U DR




